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(CL) f_l(JC) — (JC _ 8)3

(b) 9<=x<18 x€R

2019 P1 Q12

(@) =

(b) x =5

2018 P1
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g (x) =5(x+4)

2018 P2
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(a) (i) 3 + cos2x
(ii) 2(3 + cosx)
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(@) 10
(b) 2cosbx
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' (x)= “3’1 —7 or

1

(x)=(x=7)°
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(a) Proof
(b) h(x) =2(x—2)*+3
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X—5

(a) <

2015 P1
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(b) 2
(@) R"l(-r)=6;x x x—6

(0) x

2015 P2

02

@10+ (1+x)(3—x) +2
(b) 154+ 2x —x%* or —x*+2x+15
()5 & -3




(C[) o! S(x+3) stated or implied by o

8 o =(x+3)(x+2)+q
N _ OR
:r' =(x+3) —(x+3)+gq
o
1 (b) |
=7
(0) o' eg f(x+4)
. o (x+4)°+3
S o ' +3+4
o
g o 2x" +8x+26
o~ (b) o 87 -4x2x260r4°-4x1x13 stated, or implied by °
¢ 144 <0 or —36 <0 so no real roots
8 (a) o g(,\':; -1) € (x—=1)Bx+1)(x+2)
N 2 3 .
- * 3x"-D+1 @ -2, —Land1
Q| () 3(x° =1)+1+x(4x—5) 7
= 3x’ +4x* -5x-2
@ f(x*-2)
o 3(x? —2)+1
a 2
§ | (3x + l) -2
S x=—3
™ — 2
9| (@) h(f(x)) = logy(a — x +10)
S (e(x) = log(5 - %)
<
| : oy aq
5| (a) g(f(x) = 20— 1
~ sl S :
g (b) (glg(x)) =4x -1
& (@ flex) =2(2x~3) + 3
= g(f(x)) = 2(2x + 3) -3
S| (b)) 16x6*-9
< minimum value = -9




':(:c:z)._' (3:>c—  1 ) + 7
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g (@) x+4

S| (b)) x#—4

g (a) (1) sin(2x®)
5 (ii) 2sin(x°)
'é, (a) (1) sin(x+%);
g (i) cos(x+Z)
= 3

< (@) 3-+

5 @ »
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(@) fig@x)=x"~1, g(fx))=(x—1)"




